1000/0 2do)/d(m_1 + m_2) [1/GeV]

Ratio to CMS

=
o
N

=
(@)

[EEY

0.5

7000 GeV pp

Pruned jet mass(CA(0.8), 2300<p_<450, |y|<2.5)

m CMS
--3-- Herwig 7.2.1 default
----- ¢ Sherpa 2.2.9 default

Rivet 3.1.10, = 3.2M events

4 . .
_ B AR
4. $ - _

. . . . . M A
50 100 150
(m_ 1+m_2)/2[GeV]

— $om 1<
— . E‘\ ] ] %‘)
= . s
— Eli.:__%-__ 1o
I Gt ﬁ - [ | o
------ i~~ | ] ™
_ YoE t iis
e E Z
0 7 . [ | .E.
- * - B s
- R
- * 73
12]
B 10
o
| — O
| | | | | | | | ' | | | | | | | | E
:l T T T T | T T T T | T T T T |:
— =42
- ¢ 3
- & ]
— \.i \\ —_
B 2 8 [ 7
‘Ekx 7 ~."~.F:|\\ 1
‘ Bl N » Eﬂ B
o '.""'

0.5



	Contents
	Page 1


